fantini A

the best harvest since 1968 fantiniworld.com

LH3-L03

CATALOGO RICAMBI 17
ERSATZTEILEKATALOG W
SPARE PARTS CATALOGUE &7

KATAJIOIr 3AMNACHbBIX YACTEN w
CATALOGUE DES PIECES DE RECHANGE W/




Spare Parts Catalogue: Mod. LH3 - LO3
Release: 002
MARCH 2013

fFantini

the best harvest since 1968

© Fantini S.r.l. 2013. All rights reserved.



==

> COME USARE IL CATALOGO RICAMBI FANTINI
% HOW TO USE FANTINI SPARE PARTS CATALOGUE

%% COMMENT UTILISER LES CATALOGUES PICES FANTINI
¥ GEBRAUCHSANWEISUNGEN VOM FANTINI ERSATZTEILKATALOG

- Per ragioni di semplificazioni il catalogo e stato creato senza testo indicando le UNI.
La colonna della quantita indica quante volte tale ricambio si ripete all'interno dell’esploso.
- For the sake of simplicity the spare parts catalogue contains only UNI identifications.
The section of quantity shows the repetition of that spare part in the table.
- Pour raisons de simplifications le catalogue a été créé sans texte en indiquant les UNI.
La colonne de la quantité indique combien de méme rechange se répéte a l'intérieur de I'explosé.

- Zwecks der Verstandlichkeit erscheint der Ersatzteilkatalog nur mit UNI-Angaben.
Der Abschnitt der Quantitat beinhaltet die Haufigkeit solches Ersatzteiles in der Tafel.

P CODICE Qt. DENOMII\_IA_ZIONE NOTE
Code Description
Numero di Codice Quantita di pezzi Identificazione UNI
identificazione ricambio
ID number Spare part code Quantity of spare UNI identification
parts
Nombre de Code de Quantite de Parts Identification Uni
identification Rechange
ID Nummer Ersatzteilkode Ersatzteilequantitat UNI-Angabe
EF S P4 =
DENOMINAZIONE e e il
Reg. 70 cm Distanza File 70 cm 70cm Row width DISEISS (Eie 70 cm Reihenabstand
elements 70cm
12 File Numero di file 12 12 rows Nombre de lignes 12 12 Reihe
R Destro Right Arbre Rechts
L Sinistro Left Droit Links
C Centrale Central Central Zentral
L Base - R Base Punte Centrali fisse Fixed central tips Point central fix Starre zentrale Spitzen
Lat. Laterale Lateral Lateral Seitlich
Rib. Ribaltabile Folding Repliable Klappbar
Fis. Fisso Fix fix Starr
L.E. Lame Elettriche Electric blades Lames électriques Elektrische Messer
Maschio Maschio Male Male Feder
Femmina Femmina Female Female Nut
2 19160 1

_/10X 75\

G 04

A\

COFANI IN PLASTICA
PLASTIC BONNETS
COFFRES EN PLASTIQUE

Numero di file 10

Number of rows 10

Nombre de lignes 10
Reihenanzahl 10

Distanza File 75 cm

Row width 75 cm

Distance entre elements 75
Reihenabstand 75

< ﬁ:\\
N _\\*‘T

N° di Tavola e pagina, Table end page number, N° de Table et page, N° von tafel und seitezahl

Categoria (Cofanatura), Category (Bonnets), Catégorie (coffres), Kategorie (Hauben)



fantini
the best harvest since 1968

FANTINI S.r.l.
Via Brigoni 2/6 - 46046 Medole (MN) Italy
P +39 0376 868 202 - F +39 0376 899 004
info@fantiniworld.com - fantiniworld.com

Serial Number:

lill seguente manuale e i suoi allegati non possono essere manomessi 0 modificati, riprodotti né ceduti a terzi senza I'autorizzazione della
FANTINI SRL. Certa della Vostra soddisfazione per ogni chiarimento e collaborazione la FANTINI SRL augura Buon Lavoro! Il manuale va
conservato con cura per tutta la durata della macchina, di cui e parte integrante; &€ quindi indispensabile nel caso di cessione della macchina
accertarsi che vengano consegnati il manuale e tutti gli allegati (schemi, lay-out, fondazioni, ecc.). Le indicazioni riportate nel presente
manuale non sostituiscono le disposizioni di sicurezza e i dati tecnici, per I'installazione e il funzionamento, applicate direttamente sul
prodotto, né tantomeno le norme di sicurezza vigenti nel paese di installazione e le regole dettate dal comune buon senso. E comungue
necessario considerare che questo documento non pud sopperire a carenze tecniche o intellettive che operatori e manutentori devono comunque
possedere.

wThis handbook and its annexes may not be tampered with or modified, copied or given to third parties without FANTINI SRL’s
authorization. We are sure you will be pleased with your purchase, and are always at your service for any explanations or assistance you may
require. FANTINI SRL wish you good woork! The handbook must be kept in a safe place throughout the working life of the machine, of which it
forms an integral part. If the machine is sold on, ensure that the handbook and all the annexes (diagrams, layouts, foundation drawings etc.) are
also consigned. The information in this handbook does not replace the safety regulations and technical data for installation and
operation applied directly to the machine, the safety norms in force in the country of installation, or the rules dictated by common sense. Bear
in mind that this document cannot compensate for the shortcomings of operatives or maintenance staff who do not have the necessary technical
skills or mental abilities.

Le présent manuel et ses annexes ne peuvent étre ni endommagés ni modifiés, ni copiés ni cédés a des tiers sans l'autorisation de la
société FANTINI SRL. Certains de vous satisfaire et a votre disposition pour toute information et collaboration, FANTINI SRL vous souhaite bon
travail! Le manuel doit étre conservé soigneusement pour toute la durée de vie de la machina dont il fait partie intégrante. Il est par conséquent
indispensable, en cas de cession de la machine, de s'assurer de la remise du manuel et de toutes les annexes (schémas, lay-out, fondations,
etc.). Les indications rapportées dans le présent manuel ne remplacent pas les dispositions de sécurité et les données techniques,
pour I'installation et le fonctionnement, appliquées directement sur le produit, ni d'ailleurs les normes de sécurité en vigueur dans le pays
d’installation et les regles dictées par le bon sens commun. Il est nécessaire de considérer que ce document ne peut faire face aux carences
techniques ou intellectuelles des opérateurs.

! Es ist verboten das folgende Katalog und seine Anlage ohne Genehmigung von der Firma FANTINI SRL zu falschen, verandern,
vervielfaltigen oder es zugunsten Dritter zu Uberlassen. Wir stehen gerne fur Erklarungen und Wartung zur Verfugung und wir wiinschen lhnen
viel Erfolg! Es ist nétig, das Katalog fir die ganze Lebensdauer des Pfliickers sorgfaltig zu behalten, da es sein integrierender Bestandteil ist. Im
Fall von Ubertragung des Pfliickers miissen auch das Katalog und seine Anlage (Schemen, Zeichnungen) weitergegeben werden. Die im
Katalog enthaltenen Informationen ersetzten weder Sicherheitsbestimmungen und technische Daten fur Montage und Lauf des
Pfluckers (die direkt auf den Pflicker zu finden sind), noch giiltige SicherheitsmalRnahmen im Land, wo der Pflucker verwendet wird, noch
Regeln gesundes Menschenverstandes. Dieses Katalog ist nicht in der Lage, technische oder intellektuelle Unzulanglichkeiten auszugleichen,
dieman fur Benutzung und Wartung besitzen muss.



UNI

1ISO

International Organization for Standardization

22 rf 7= - R \
5 0 © | )
UNI 5931 8.8 UNI 6592 UNI 7474 B UNI 5737 8.8 UNI 9200
ISO 4762 ISO 7092 DIN 985 ISO 4014 ISO 7337
— .. -ﬂ r/ﬁ:\{\
UNI 5933 10.9 UNI 6593 UNI 7473 A UNI 5737 10.9 UNI 5732
DIN 7991 ISO 7093 ISO 7040 ISO 4014 ISO 8677/4034
o I | == l - q N
= e | COE LT | L e
UNI 5923 45H UNI 6604 UNI 1751 UNI 5738 8.8 UNI 6873
ISO 4026 ISO R773 ISO 7040 ISO 8765 ISO 8752
AT AT A
— < el @ 71 ©
| .{(-_\_‘__T____ ::_\,.' g = e ) ., \_:’_.ﬁ"
UNI 5927 45H RDE UNI8842A UNI 7663A UNI 5739 8.8 UNI 5587
ISO 4027 ISO 6798A ISO 71412A ISO 4017 ISO 4033
= &ir@ i@;ﬁ-’} D—] [_j U ::lj
UNI 5925 45H Est. UNI 7435 UNI 7663B 45° UNI 5739 10.9 UNI 5588
ISO 4028 DIN 471 ISO 71412B ISO 4017 ISO 4032
s ~ \*: = & ___} = \ ::lf
UNI 8117 Int. UNI 7437 UNI 7663C 90°° UNI 5740 UNI 5589
ISO 18480 DIN 472 ISO 71412C ISO 8676 ISO 4035
€5 |[DXI= g @ @
E{%l:?\gé ! ~ L:::::__E \“_«_"
CONTACT UNI9201 DIN 6923 "A" UNI 8833 NILOS 2207 JV
30207 6206 2RS 30208 NILOS 6207 3V
6207 6205 2RS 6205 2RS OR 4118
6208 6304 2RS PNA 2042 6004-2RS OR 3137
6209 2207 2RS 6307 61904 2RS 730209
















































































































































































































IMPIANTO IDRAULICO
SYSTEM HYDRAULIC
SYSTEME HYDRAULIQUE







™
- b, T
- T
_ 2, |
| Y
_ |
-_ “
= _ -
ul o« 5 : 1
BN i {
— — — S _ N
=] Cﬁ/ m_ _. |||||
A" Jv _
()] & - | @ _
| B u_ _ \ _
_ |||||||||| I s o | m m 2 |
_ I & _ “ _ mn_
W ’ ﬁ _ ;
— | | 0 e Em_
| . | z ) ....... “ _ 8
_ o - q 38,
| (o | X | o
| | . e
| | = " “ 1
) - =
| , | & I i 4
_ i E® ﬁ “ 5 1
| | VA | 13
0 _ R e _ L =
B i I - I
| = ﬁ 4 IIIIIIII | _
_n- ek | - _ .r/ _
P _ _ O
, = 1 { g
N d<0o|
o C . _ i
3 I F bt
M = y ¢ _ | m__ o -
- | | : :
(=] m _ ||||| 1 | S | “ 3
¥ _ - |
.CU _ | __ | _ o
gas I “ L _ “ ﬂ
AT | p |
mmm ! _ L __ | " | __ I
_ ]
=0 . _ _|3 _ _
55 . INE - _ i
EHnuu . " \. “ __ _ |m|_
Pog 0 © i | _ S w;
BTT |||||||| __ i
ub - - _ i
W 9 o | .
& wuw r T T T | _ T _ mmg
EEE T - | o | 1 | =
<< I : cHinnil ) _
o i
__m.,.,_ “ _ .ﬂ,\r\/__ _ _ - I_ wn
|- [ | _ _ : _ 1
_ __ | _ 8 _
| g . T
S &
_ | g B % | | g
| | e 4 i : : H. _ m _
_0 : I / _ _ Zod . }
_m 7 " _ Cm_./ﬂ/ _ _ umwm _ __ umm,
s @ 18 @v | | s .
- | o= | | _ |
i i p - _ _ <
|||||||| w : _ _ | own
JRR— | _n ||||| _ _ _ _
|||||| _ _ _
IS !
lllllll |







Fantini

the best harvest since 1968




	COPERTINA Catalogo Ricambi LH3-L03 (Fantini)
	EDIZIONE Catalogo Ricambi LH3-L03 _Fantini_
	USO Catalogo Ricambi (Fantini)
	UNI-ISO
	INDICE Catalogo Ricambi LH3-L03
	Pag1
	Pag2

	Tabelle Catalogo Ricambi LH3-L03 (Fantini)
	RETRO Catalogo Ricambi



